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| Semester 3 Year LL.B. IV Semester 5 Year B.A. LL.B. (Maj.-Min. System)/
B.B.A. LL.B/B.Com. LL.B. Examination, October/November 2022 (June 2022)

Duration : 3 Hours

CONTRACT -1
(Law of General Contract)

Instructions : 1. Answer all five Units.

2. One essay type question and short note/

problem is compulsory from each Unit.
3. Figures to the right indicate marks.
4. Answer should be written either in English or

Kannada completely.

UNIT — |

Q. No. 1. (a) Define acceptance. Explain the rules as to revocation of

Q. No. 1.

(b)

acceptance.
NGS 30D 39,809, Q0. ~eﬁ éodoxb aooéﬁcbimbw
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OR/ea5m
Define offer. Distinguish it from invitation to offer.
TARBIODW), @9, 809,J%0. BB Tone JFIIN SCI
‘3@?19? ﬁ BD N 54’:%)

Solve the following problem :

SN x)’ab:o’d RO :

Shiva’s son was missing. He ordered his servant Ram to
search the boy. Ram went to different places to search the
boy. Subsequently Shiva declared a reward of Rs. 25,000
to any one who finds the missing boy. Ram is not aware
of this reward. However he finds and returns the boy to

Shiva. Can Ram claim the reward ?

dTT SN 3&%3@0@&&5& SN 33, ReTTIOT TomddN
& BRI, R STeBATD. oaaﬁam TR
& MBI, @mﬁw Je8 3ed X @66 TRETI. 3TZ03T
T &3 mmwm mmemuwoﬁ gz 25,000
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OR/eg=

Max. Marks : 80

Marks : 10

Marks : 10

Marks : 6
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(b)

Q. No. 2. (a)

Q. No. 2.

(a)

(b)

ne lakh for

Mahantesh sold his horse worth rupees 0 2
tioned

Rs. 10,000 to Kantesh. Can this sale be quésS
SINBOZCTF 2,03 05 ?.360&134 30500
an. 10,000 Rer mw;b 3 MODWR‘D "cdérowabde 9

UNIT - lI

Explain the circumstances under which consentis said to

be free.
B0 AR 08 ARSIRIOIE WS,
TOD.

OR/egm
An agreement in restraint of trade is void. Comment and
state the exception.
0, T[T, AWFORRT 2,000 LT amséaahdogd.
RBFAD TP STTNIRY BePO.

Solve the following problem :
FINT RIR, VRO :
A, B and C enter into an agreement to a share among

themselves of gains acquired or to be acquired by them
by fraud. Is this agreement valid ?

B, W BB T ]Y [ACIDOT ToTAT BT
T0TOOARWIOTT H@ﬁcﬁoﬁg{ 80255@6’%@ 20T z.,aiocsw@t
INABRORTITD. B3 u&:od@ NRBFI[e 9

OR/eg=

P and Q entered into an agreement where by P should pay
Rs. 50,000 to Q if it rains on a specified day, otherwise Q
should pay Rs. 50,000 to P. It rains on that specified
day. Can Q recover the amount ?

‘T DR T /WD WO LBOWRE TRREROR TTod
2,030 ANDZ AITOW RFINTT ‘T’ D ‘F IR ID
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Marks : §

Marks : 10

Marks : 10

Marks : 6

Marks : 6
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UNIT =1l

Q. No. 3. (a) Explain the different modes of discharge of contract. Marks : 10
LEOWAT DIBWFIOD AT DFOINFIY, DFTOAD.

OR/eg=»
(a) What is anticipatory breach of contract ? State the
consequences of the same. Marks : 10
SIOR IeTSe wEoWRTOD VL oPIoOTTEI 7 BTT
aommma&% TeP0.
Q. No. 3. (b) Solve the following problem.
FSNT xaﬁoﬁé VRAD.

Ganesh hires a marriage hall from Mahesh. The hall was
accidently burnt before the marriage took place. Ganesh
files a suit against Mahesh. Decide. Marks : 6

REges STWBD HPTI) DBeR0T wBRR TBBLD.
RN SBOINS IRTES csaaj zsoézbdao 33, TOTTOOWV.
neHeSx) VIS &)doc% G0 BRATID. AFAAD.

OR/uz=o

(b) Praveen promised to marry Prema on the death of his
father. While the father was still alive he married
Prema. Decide. Marks : 6

T,Qe00T0 IF, T JoUNT  FoIT T, eIRYIY
DTS BRI TN T T SRBOTVH. S, felafor bV
WEOTOTONSE T, eIRTI) IOTICARTOTVFE.  VEIF WAD.

UNIT - IV

Q. No. 4. (a) What are the remedies available for a breach of contract ?

Marks : 10
80008 VQOFER BRUBE TOTORVOIYRY) ?
OR/egm
(a) Explain the different kinds of Quasi-Contracts. Marks : 10

QNG DeEo 0 @O BRI LTOXD.
-
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Q. No. 4. (b) Write short note on :
wazit‘é W3O :

Remoteness of damages.
BRBRowTH afﬁu .

OR/eam=

(b) Measure of damages.
TOTITFST T=ea.

Marks : 6

Marks : 6

UNIT -V

Q. No. 5. (a) Who may claim specific performance of contract ? Marks: 10 @
WRowRTD NOFT, SoWeododRy odRDd Fedwadzd ?

OR/eg=»

(a) Briefly explain different kinds of injunction. Marks : 10
PRFOFRHEOD DG T TONTRY Rogzamon BOAD.

Q. No. 5. (b) Write short note on :
T3 WHOWD :

Contracts which cannot be specifically enforced. Marks : 6
QOFg 36&06033&31 gesoons goodonsh.

OR/eg=

(b) Specific relief. Marks : 6 [}
OOFR, T0ToT.
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